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(6) ÜdZr bhar
1) ÜdZrMo ñdén d¡{eîQ>ço
2) ÜdZrMo  JwUY‘© - BÝ’«$mgmo{ZH$ bhat
3) ÜdZrbhar¶ CnH$aUo
4) ÜdZr àXÿfU

1) ÜdZrMo ñdén d¡{eîQ>ço
1) EH$ ÜdZr Va§JmMr dma§dmaVm 1000 hQ²>©P AgyZ Va§Jbm§~r 0.25 ‘rQ>a Amho. Oa Vmo EH$m {d{eï> ‘mÜ¶‘mV 5 goH§$X

àdmg H$aV Agob, Va H$mnbobo A§Va H$mT>m.
1) 50 {H$.‘r. 2) 1250 ‘r. 3) 800 ‘r. 4) 80 {H$.‘r.

1) Calculate the distance travelled by a sound wave having frequency 1000 Hz and wavelength 0-25

m, if it travels for 5 seconds in a certain medium.

1) 50 km 2) 1250 m 3) 800m 4) 80km

2) Ooìhm EImÚm ÜdZr Va§JmMo g§nrS>Z ÑT> q^Vrda AmXiob Voìhm Ë¶mMo à{Vq~{~V ê$n ho …
1) 180 A§emZr (π) AdñWm g§Hw$MrV hmoB©b.
2) AdñWm ~Xb hmoUma Zmhr.
3) 90 A§em§Zr (π/2) AdñWm {dabZ hmoB©b.
4) {dabZ hmoB©b nU AdñWm ~XbUma Zmhr.

2) When a compression of sound waves is incident on rigid wall, it is reflected as :

1) Compression with a phase change of π (by 1800)

2) Compression with no phase change

3) Rarefaction with a phase change of π/2 (by 900)

4) Rarefaction with no phase change

3) {d{eï> dma§dmaVm AgUmam EH$m ÜdZr Va§JmMm doJ 336 ‘r./go. AgyZ Va§J bm§~r 3 go‘r Amho. Va dma§dmaVm H$mT>m.
Vr ldUr¶ Agob H$m?
1) 100800 Hz, Zmhr 2) 100800 Hz, hmo¶
3) 11200 Hz, Zmhr 4) 11200 Hz, hmo¶

3) A sound wave having certain frequency travels with a speed of 336 m/s and wavelength 3 cm.

What will its frequency be? Will it be audible?

1) 100800 Hz, No 2) 100800 Hz, Yes

3) 11200 Hz, No 4) 11200 Hz, Yes

4) EH$ ÜdZr Va§JmMr dma§dmaVm 1000 hQ²>©P AgyZ Va§Jbm§~r 0.25 ‘rQ>a Amho. Oa Vmo EH$m {d{eï> ‘mÜ¶‘mV 5 goH§$X
àdmg H$aV Agob, Va H$mnbobo A§Va H$mT>m.
1) 50 {H$.‘r. 2) 1250 ‘r. 3) 800 ‘r. 4) 80 {H$.‘r.

4) Calculate the distance travelled by a sound wave having frequency 1000 Hz and wavelength 0-25

m, if it travels for 5 seconds in a certain medium.

1) 50 km 2) 1250 m 3) 800m 4) 80km
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5) `mo½` n`m©̀  {ZdS>m:
'bha' (Ob) hr e§H$mñnX g§km Amho H$maU ...
1) Vr g‘wÐmdê$Z {’$aVo. 2) Vo nmM {‘{ZQ>m§nydu gmaIoM Amho.
3) nmÊ`mMo H$U ~Xbbo AmhoV. 4) darb gd© VrZ.

5) Choose the correct option :

A ‘wave’ (water) is a doubtful concept because ...

1) it moves over the sea. 2) it is the same as five minutes ago.

3) the particles of water have changed. 4) All the above three.

6) Imbrbn¡H$s H$moUVo Va§J ho ¶m§{ÌH$ Va§Jm§Mo CXmhaU Amho?
1) àH$me Va§J 2) ÜdZr Va§J 3) ao{S>Amo Va§J 4) Xÿa{MÌdmUr Va§J

6) Which of the following is an example of a mechanical wave ?

1) Light wave 2) Sound wave 3) Radio wave 4) Television wave

7) lmì¶mVrV Va§J ........... ¶m ñdê$nmMo AgVmV.
1) AdVa§J 2) AZwVa§J 3) Bbo³Q´>mo‘°¾o{Q>H$ 4) pñWa

7) Ultrasonic waves are .............. in nature.

1) Transverse 2) Longitudinal 3) Electromagnetic 4) Stationary

8) Imcrcn¡H$s H$moUË`m Va§Jm§Mo Y«wdrH$aU hmoD$ eH$V Zmhr ?
1) àH$me Va§J 2) ÜdZr Va§J 3) {~ZVmar Va§J 4) `m§n¡H$s EH$hr Zmhr

8) Which of the following waves cannot be polarised ?

1) Light waves 2) Sound waves 3) Radio waves 4) None of these

9) lmì¶mVrV Va§J ho Ago Va§J AmhoV H$s Vo ..............
1) ‘mZd EoHy$ eH$V Zmhr 2) ‘mZd EoHy$ eH$Vmo
3) Ë¶m§Mr dma§dmaVm H$‘r Amho 4) darbn¡H$s EH$hr Zmhr

9) Ultrasonic waves are those waves which

1) human beings cannot hear 2) human beings can hear

3) have less frequency 4) None of the above

10) ÜdZrMr H$‘rVH$‘r ldUr¶ dma§dmaVm åhUOo -
1) ldUj‘VoMr Ama§̂  Vrd«Vm 2) ÜdZr ldUj‘VoMr Ý¶yZV‘ ‘¶m©Xm
3) ÜdZr ldUj‘VoMr CƒV‘ ‘¶m©Xm 4) darbn¡H$s Zmhr

10) The minimum audible frequency of sound means

1)  threshold intensity of audibility 2)  lower pitch limit of audibility

3)  upper pitch limit of audibility 4) None of the above
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2) ÜdZrMo  JwUY‘© - BÝ’«$mgmo{ZH$ bhar
1) Vmn‘mZmVrb àË¶oH$ 1OC dmT>rgmR>r hdoVrb ÜdZrMm doJ ............... go.‘r./goH§$X Zo dmT>Vmo.

1) 6.1 2) 0.61 3) 61 4) 16
1) For each 1°C rise in temperature, the speed of sound in air increases by ........... cm/s.

1) 6.1 2) 0.61 3) 61 4) 16

2) à{VÜdZr VaM EoHy$ ¶oVmo, Oa ÜdZrMm ómoV Am{U AS>Wim ¶mVrb A§Va ...... Agob.
1) 17 ‘rQ>anojm H$‘r 2) 17 ‘rQ>anojm OmñV qH$dm 17 ‘rQ>a
3) 7 ‘rQ>anojm H$‘r 4) darbn¡H$s H$moUVoM Zmhr

2) Echo is heard if the distance between the source of sound and the obstacle is

1) Less than 17 meters 2) More than or equal to 17 meters

3) Less than 7 meters 4) None of the above

3) Ooìhm - Ooìhm ÜdZrMm òmoV Am{U {ZarjH$ ¶m§À¶mV gmnoj JVr AgVo Voìhm òmoVmÛmao CËg{O©V hmoUmè¶m ÜdZrÀ¶m
dma§daVo Am{U {ZarjH$mÛmao EoH$ë¶m OmUmam ÜdZrÀ¶m dma§dmaVoV ~Xb {XgyZ ¶oVmo. ¶mbm ........... åhUVmV.
1) øyOoÝgMm à^md 2) Á ỳëgMm à^md
3) S>m°nbaMm à^md 4) a‘UMm à^md

3) Whenever there is a relative motion between a source of sound and an observer, there is appar

change in Frequency of a sound emitted by a source and as heard by the observer. This is call ......

1) Huygen’s effect 2) Joule’s effect

3) Doppler effect 4) Raman effect

4) lmoV¥J¥hmÀ`m q^Vr d N>V V§Vw_` nXmWmªZr H$emgmR>r PmH$coë`m AgVmV ?
1) lmoV¥J¥hmMo gm¢X`uH$aU H$aÊ`mgmR>r 2) ~m§YH$m_mMm IM© H$_r H$aÊ`mgmR>r
3) lmoV¥J¥h AÁdcZerc H$aÊ`mgmR>r 4) à{VÜdZrMm AS>Wim H$_r H$aÊ`mgmR>r

4) The reason for covering the walls and ceiling of an auditorium with fibrous material is:

1) to beautify the auditorium 2) to reduce the cost of construction

3) to make the auditorium 4) to prevent echoes

5) ÜdZr Va§J `mVyZ OmV ZmhrV …
1) KZ nXmW© 2) Ðd nXmW© 3) {Zdm©V nmoH$ir 4) hdm

5) Sound waves do not travel through a :

1) Solid medium 2) Liquid medium 3) Vacuum 4) Air

6) hdoVrc AmÐ©Vm dmT>ë`mg ÜdZr chatMm doJ H$moaS>çm hdoVrc doJmnojm ......
1) H$_r hmoVmo 2) g_mZ hmoVmo 3) dmT>Vmo 4) XwßnQ> hmoVmo

6) The Velocity of sound waves in moist air is ...... its velocity in dry air.

1) less than 2) equal as 3) greater than 4) double
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7) Imcrcn¡H$s ¶mo½¶ dm³¶m§Mr {ZdS> H$am.
a) Üd{Zchar dm¶y nXmWm©nojm ñWm¶y nXmWm©VyZ doJmZo OmVmV.
b) Üd{Zchar {Zdm©V nmoH$irVyZ gdm©V OcX JVrZo OmVmV.
c) Üd{Zchar AZwc§~ char AmhoV
d) Üd{Zchar Ðd nXmWm©nojm dm¶y nXmWm©VyZ H$‘r doJmZo OmVmV.>
n¶m©¶r CÎmao …
1) (a),(c) Am{U (d) ’$º$ 2) (a) Am{U (b) ’$º$
3) (c) Am{U (d) ’$º$ 4) (b) Am{U (d) ’$º$

7) Choose correct statements from the following :

a) Sound waves travel faster in solids than in gases.

b) Sound waves travel fastest through vaccum.

c) Sound waves are longitudinal waves

d) Sound waves travel slower in gases than in liquids.

Answer Options :

1) (a),(c) and (d) only 2) (a) and (b)only

3) (c) and (d) only 4) (b) and (d) only

8) Imcrc {dYmZm§Mm {dMma H$am.
A) XmQ> YwHo$ Agcoë¶m amÌr Xÿadê$Z OmUmè¶m AmJJmS>rMr {eÅ>r ñnï>nUo EoHy$ ¶oVo.
~) ÜdZrMm hdoVrc doJ hm hdoÀ¶m AmÐ©VoÀ¶m g‘mZwnmVr AgVmo.
darcn¡H$s H$moUVo {dYmZ gË¶ AmhoV?
1) A Am{U ~ XmoÝhr ~amo~a AmhoV. 2) A Am{U ~ MyH$ AmhoV
3) A ~amo~a Amho na§Vw ~ Zmhr 4) ~ ~amo~a Amho na§Vw A Zmhr

8) Consider the following :

a) The whistle of a passing train is clearly heard on a quiet misty night.

b) Velocity of sound in air is proportional to humidity in air.

Which of the above statements are true?

1) a and b both are correct 2) Neither a nor b is correct

3) a is correct but b is not 4) b is correct but a is not

9) Imbrbn¡H$s H$moU BÝ’«$mgmo{ZH$ bhatMm dmna EH$‘oH$m§er g§dmX gmYÊ¶mgmR>r H$aVmo?
1) ìhob (Whale) 2) J|S>m 3) hÎmr 4) darb gd©

9) Who of the following use infrasonic waves to communicate with each other?

1) Whale 2) Rhinoceros 3) Elephant 4) All the above

10) Imbrbn¡H$s H$moUVo {dYmZ ÜdZrgmR>r ~amo~a AmhoV?
a) ÜdZr Va§J ho AdVa§J AgVmV.
b) EoHy$ ¶oUmè¶m ÜdZr Va§Jm§Mr dma§dm[aVm 20 kHz Am{U Ë¶mnojm A{YH$ AgVo.
c) ÜdZr Va§Jm§À¶m àgmaUmgmR>r ‘mÜ¶‘mMr Amdí¶H$Vm AgVo.
d) A{Z¶VH$m{bH$ ÜdZr Va§Jm§Zm Jm|Yi (Noise) åhQ>bo OmVo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a) Am{U (c) 3) (b) Am{U (c) 4) (c) Am{U (d)
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10) Which of the following statements are true for sound ?

a) Sound waves are transverse waves.

b) Audible sound waves have frequency range of 20 kHz and above.

c) Sound waves require medium for propagation.

d) None-periodic sound waves are termed as 'Noise'.

Answer Options :

1) (a) and (b) 2) (a) and (c) 3) (b) and (c) 4) (c) and (d)

11) ÜdZrbha  hr ¶m§{ÌH$s AZwVa§J AgyZ Imbrbn¡H$s H$moUË¶m ‘mÜ¶‘mVyZ Ë¶m àdmg H$aVmV ?
1) dm¶y 2) Ðd
3) KZ 4) darbn¡H$s gd© ‘mÜ¶m‘mVyZ

11) Sound waves are longitudinal mechanical waves that can travel through which of the following

mediums?

1) Gases 2) Liquids

3) Solids 4) In all of above mediums

12) ÜdZrMr H$‘rVH$‘r ldUr¶ dma§dmaVm åhUOo ...
1) ldUj‘VoMr Ama§̂  Vrd«Vm 2) ÜdZr ldUj‘VoMr Ý¶yZV‘ ‘¶m©Xm
3) ÜdZr ldUj‘VoMr CƒV‘ ‘¶m©Xm 4) darbn¡H$s Zmhr

12) The minimum audible frequency of sound means

1) threshold intensity of audibility 2) lower pitch limit of audibility

3) upper pitch limit of audibility 4) None of the above

13) CÝhmù¶mnojm {hdmim qH$dm nmdgmù¶mV ÜdZr cm§~ A§VamhÿZ ñnï>nUo EoHy$ ¶oVmo, H$maU
1) {hdmim qH$dm nmdgmù¶mV hdoVrc AmÐ©Vm OmñV AgVmo.
2) {hdmim qH$dm nmdgmù¶mV hdoMm Xm~ OmñV AgVmo.
3) CÝhmù¶mV hdoMm Xm~ H$‘r AgVmo.
4) {hdmim qH$dm nmdgmù¶mV hdoVrc AmÐ©Vm d hdoMm Xm~ OmñV AgVmo.

13) Sound can be heard distinctly at longer distance in winter or in rainy season rather than in

summer because

1) humidity in the air is greater in winter or in rainy season

2) air pressure is greater in winter or in rainy season

3) air pressure is less in summer

4) humidity and air pressure are greater in winter or in rainy season.

3) ÜdZrbhar¶ CnH$aUo
1) dma§dmaVm .............. Agboë¶m Va§Jm§Mm XþYmgma»¶m ÐdmVrb OrdmUy ‘mê$Z Q>mH$Ê¶mgmR>r dmna hmoVmo.

1) 20 Hz nojm H$‘r 2) 20 Hz Vo 20 Hz ¶m‘Yrb
3) 20 Hz nojm OmñV 4) darbn¡H$s EH$hr Zmhr

1) The waves of frequency .............. are used to kill the bacteria in liquids like milk.

1) less than 20 Hz 2) between 20 Hz to 20 Hz

3) greater than 20 Hz 4) None of the above
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2) öX¶m§À¶m R>mo³¶m§Mo V§ÌkmZ ¶mda AmYm[aV Amho.
1) AdVa§J 2) Adlmì¶ Va§J 3) lmì¶mVrV Va§J 4) AZwVa§J

2) The echocardiography technique is based on

1) Transverse waves 2) Infrasonic waves 3) Ultrasonic waves 4) Longitudinal waves

3) g‘wÐmMr Imobr H$mT>Ê¶mgmR>r ¶m V§ÌmMm dmna H$aVmV …
1) W‘©b {S>Q>o³Q>a 2) Hw§$S>g² Q>çy~ 3) Am°{gboQ>a 4) gmoZma (SONAR)

3) To determine the depth of sea this technique is used :

1) Thermal detector 2) Kundt's tube 3) Oscillator 4) SONAR

4) "gmoZma' (Sonar) hr §̀ÌUm Imcrc VÎdmda MmcVo.
1) àH$me {H$aU 2) ÜdZr 3) à{VÜdZr 4) drO

4) Sonar works on following principle :

1) light rays 2) sound 3) echo 4) electricity

5) gmoZma (gmC§S> ZoìhrJoeZb loUr) V§Ì .............. ¶mgmR>r dmnabo OmVo.
1) OÝ‘nyd© narjm
2) öX¶mÀ¶m PS>nm§À¶m {H«$¶oMm Aä¶mg
3) ŵd¡km{ZH$ Aä¶mg
4) nmZ~wS>rgma»¶m ~wS>boë¶m dñVwMr JVr Am{U pñWVr ‘mnÊ¶mgmR>r

5) SONAR (Sound Navigational Ranging) technique is used for ....

1) Prenatal examination

2) the study of heart valve action

3) Geological study

4) measuring motion and position of the submerged objects like submarines

6) ............. ho V§Ì dmnê$Z g‘wÐmMr Imobr ‘moOVmV.
1) gmoZma 2) gmoZmoJ«m’$s 3) hmobmoJ«m’$s 4) ‘m¶H«$moñH$monr

6) The depth of the sea can be measured using techniques.

1) Sonar 2) Sonography 3) Holography 4) Microscopy

7) lmì¶mVrV Üd{ZchatÀ`m gmhmæ¶mZo ~maH$mB©Zo Ho$bobr VnmgUr ...... gmR>r Cn¶moJr Amho.
a) J^m©V Agbobm Xmof g‘OÊ¶mgmR>r
b) öX¶mÀ¶m PS>nm§Mr hmbMmb g‘OÊ¶mgmR>r
n¶m©¶r CÎmao …
1) {dYmZ (a) ho gË¶ Amho na§Vw {dYmZ (b) ho AgË¶ Amho.
2) {dYmZ (a) ho AgË¶ Amho na§Vw {dYmZ (b) ho gË¶ Amho.
3) XmoÝhr {dYmZo (a) Am{U (b) gË¶ AmhoV.
4) XmoÝhr {dYmZo (a) Am{U (b) AgË¶ AmhoV.
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7) The Ultrasound Scanning is useful ......

a) to examine the defects in a foetus

b) for determining motion of heart valve

Answer Options :

1) (a) is True but sentence (b) is False

2) (a) is False but sentence (b) is True

3) Both sentences (a) and (b) are True

4)  Both sentences (a) and (b) are False

8) ''hm`naH$moBH$ '' hm eãX  ......... V§ÌkmZmer g§~§{YV Amho.
A) AëQ´mgmoZmoJ«m’$s ~) ao{S>AmoJ«m’$s H$) qgQ>oJ«m’$s S>) âbmoamoñH$monr
n`m©¶r CÎmao :
1) A Am{U H$ ’$º$ 2) A Am{U S> ’$º$ 3) A ’$º$ 4) ho gd©

8) The term "hyperechoic" is used in

a) Ultrasonography b) Radiography c) Scintegraphy d) Fluoroscopy

Answer Options :

1) a and c only 2) a and d only 3) a only 4) All of these

4) ÜdZr àXÿfU
1) Imcrc {ZX}{eV EoH$Ê`mÀ`m à_mUmZwgma ZmJ[aH$m§Mr EoH$Ê`mMr j_Vm, EoH$Ê`mV {~KmS> Z hmoVm {H$Vr Amho?

1) 110 dB 2) 85 dB 3) 95 dB 4) 100 dB

1) From the following, state the value of loudness, where a person can tolerate the exposure without

any damage to hearing ?

1) 110 dB 2) 85 dB 3) 95 dB 4) 100 dB

2) T.V. ñQw>{S>AmogmR>r KamVrb AmdmOmMr ñdrH$m ©̀ nmVir {H$Vr Amho?
1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

2) How much is the acceptable indoor source noise level for the T.V. studio ?

1) 5-10dB 2) 25-30dB 3) 50-55 dB 4) 1-45dB

3) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, àË òH$ H$maImÝ`mV, OmñVrV OmñV nadmZJr`mo½` ÜdZr EŠgnmoOa nmVir,
gVV qH$dm AZoH$ AënH$mbrZ EŠgnmoOa, XaamoO AmR> Vmgm§gmR>r ...... Amho.
1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA

3) As per Maharashtra Factories Rules 1963, in every factory, the maximum permissible noise

exposure levels, continuous or a number of short-term exposures, for eight hours per day is ......

1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA
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CÎmao … (6) ÜdZr bhar

1) ÜdZrMo ñdén d¡{eîQ>ço
1-2 2-2 3-4 4-2 5-3 6-2 7-2 8-2 9-1 10-2

2) ÜdZrMo  JwUY‘© - BÝ’«$mgmo{ZH$ bhar
1-3 2-2 3-3 4-4 5-3 6-3 7-1 8-1 9-4 10-4
11-4 12-2 13-1

3) ÜdZrbhar¶ CnH$aUo
1-3 2-3 3-4 4-3 5-4 6-1 7-3 8-3

4) ÜdZr àXÿfU
1-2 2-2 3-2


